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— ~ Amy has a utility function, U = 10R?C, where R represents spare ribs and C is fried chicken.
Her weekly income is $90 and can buy spare ribs at $10 per pound and fried chicken at $5 per
pound.

(1) What is her marginal utility for spare ribs? (3 points)

(2) What is her marginal utility for fried chicken? (3 points)

(3) What is her marginal rate of substitution between two products? (3 points)

(4) Solve mathematically for her optimal consumption of spare ribs and fried chicken. (6 points)
(5) Show in a graph how to determine this bundle using indifference curves and the budget line.

(3 points)

— ~ For this question, use the following cost function and inverse demand curve:
TC =2Q% +10Q + 8
P=50- ; Q
(1) Find the fixed cost (FC) for this firm. (2 points)
(2) Find the total revenue (TR) function and the marginal revenue (MR) function. (6 points)
(3) Find the profit-maximizing quantity and price for this firm. (6 points)

(4) Find the total profit the firm receives when it produces at optimal price and quantity. (3 points)

= ~ Assume a small firm is under a monopolistic competition market and faces the following demand
and cost information for its products:

P=60-0Q
MR = 60 — 2Q
TC = 96 + 20Q + 0.5Q2
MC = 20 + Q

(1) Identify the characteristics for a monopolistic competition market. (6 points)

(2) Please calculate the Long-Run equilibrium price and output combination under this
monopolistic competition market. (6 points)

(3) Without any algebra solution, do we expect a zero value of economic profit in this long-run

equilibrium case? Why or why not? (3 points)
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